F66OIHSFIR/\Y FR—ILBEFEASE—RTE
R E740 RRR/\Y FR—IVEZEFEKRS

RAB S5F48158 168+ 228« 238
‘%17,% EHHRBRERETFSCHRERE « LT FSRERE S CHEE - AT I B BRESHEE
8 F T F
11 |ERETFREERSSER BERASEER
IR 2f1 | REEVBBUSEER | EEMIUI—RaFER
3 | EFREVFLEFER | EREVERSFFER
411 | FAFEESEFR | FRREUVERESEFR
: 11 22
29] 23 10
EFDE 11 Ems;&ﬁiﬁzl
18]22 28[22 RAF AL
8 9
22017 25017 20§12 31014
4 5 6 7
4125 3023 21133
1 a_‘ ’7\3
3 - = = B = B = B %
A i3 =]
I F N B
2 & i
B % 3 B w R B ¥ Lk i)
LZFOE 1olez
22017 15025
7] =3
23113 5] 21 27013 21§19
a1 2 I i
270 1
iy
- = £ =] E = # B &
B =
% it W @ R R & L] )



Hi5F48158 () |

|rn

ERLREBaESS CRaE |wr

ERhAB BaAEwSCh B

SHOoF45168 ()

[ERnhBRaRaSCRBE

Rt L

g

7

12
10

RAFHE 4

—%

)

1000

EESER 5 SRAKE

16— 5
5 17
9 —12

1200

[]

EBL

1130

6 L

11330

11— 6
1 14
20— 8

7T X

- ]ﬂ

1600

11—15
10— 18

1600

s

g o BR
1330 1 3 1 4 13:30 1 2 1330 1 - 1 O
21
17 — 11— 4 — 11
Z=RI 3 &Kkt LT E

1600

]

12— 9
1 19
9 —10

SNW6F48228 (D) %_%iﬂ5fli4)%23El B EF
= g EﬁiﬁgﬁTﬂnj;ﬂaS%{gﬁﬁ & " ﬁﬂ;%tﬁ ;ﬁﬁ tﬁigﬁﬁ 15% %Eﬁﬁ%ﬂ%%@ﬂ%%}%?ﬁ
Z — — F — — 6F/50D1108
10:00& 8—8 . 3 12—29 L < =kw3 = ANy e
w2l 1030/ | 20 a1 21| EREVAUSEER
i —_— — g 1 -1 3z %Eﬁﬁuj\\tm%¥ﬁ
% 9&@ 2 —_ O e [—]) N
§ _jF_% 22 |41 BEAFEESEFR
. 10— 10 g — N
11301 5 o5 |, |F 10— 10
R 5—15 120014 19 22 e
B = — [ 9 —12 - BRI EER
TATFER 8 HETER - T N
? e = [FASEE 10 3F&fmon s
13:30|%E 18 10— 29 g » 2fu %Eﬁﬁ_%ggﬁﬁ
3 13:45| fi1 " i —— .
A s - |: :| stl| RERIERRESFR
B0 o "L B 41| RREBVERRSFFR
? _ SEEFER 11
15000 |3 12— 11 3
Gl 28 22 |4545F 15— 10
R 16— 11 | 2
5 TN — B 14— 13




